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#include <stdio.h>
#include <math.h>

double helon(double a, double b, double c); //00000000

int main(void)

{
double henl, hen2, hen3;
double menseki;

printf (7010 O O7?\t”);
scanf ("%1f” ,&henl);
printf (?020 0O O7?\t”);
scanf ("%l1f” ,&hen2);
printf (7030 O O7?\t”);
scanf (?%1f” ,&hen3);

menseki = helon(henl, hen2, hen3);
if (menseki < —990){

telse{
printf (?0000%f0 O O \n”, menseki);

}

return 0;

double helon (double a, double b, double c¢)

{

double s, S, test;

s=(atb+c)/2;
test=sx*(s—a)*(s—b)*(s—c);

if (test <= 0){

S = —999.0;
telse{

S = sqrt(test);

}

return S;
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#include <stdio.h>
#include <math.h>

void info_tri(double a, double b, double c); // 00000000
double S, total_len; // O0O00O000O
//============================================s=======s======

// 00000
//============================================ss=====ss======

int main(void)

{

double henl, hen2, hen3;
double menseki;

printf (?010 O O?\t”);
scanf ("%1{” ,&henl);
printf(?020 0O O7?\t”);
scanf ("%1f” &hen2);
printf (?030 0O O7?\t”);
scanf ("%1f” ,&hen3);

info_tri(henl, hen2, hen3);
if (S < —990){
telse{
printf (?P0000%f0 OO \n”, S);
printf (?0000%f0 O O \n”, total_len);

}

return 0;




void info_tri(double a, double b, double c¢)
{

double s, test;

s=(atb+c)/2;
test=sx(s—a)*(s—b)x(s—c);

if (test <=0){
S = -999.0;

telse{
S = sqrt(test);
total_len = atb+c;

}
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